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TPM2: Time projected back to Sr source
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Mean  =  70.88
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Max ADC for track clusters in TPM2

hmaxadc_tr_TPM2
Nent = 79002  
Mean  =  86.06
RMS   =  80.06
Integ = 7.9e+04

integrated ADC ("dE/dx")
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ADC sum for track clusters in TPM2

hadcsum_tr_TPM2
Nent = 79002  
Mean  =  712.9
RMS   =  727.7
Integ = 7.9e+04

TPM2, 191227 events, 658621 hits, 26334 tracks



drift distance [time bins]
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Nent = 23937  
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TPM2: Cluster max ADC vs. drift distance

hClMaxADCOfY_TPM2
Nent = 23937  
Mean  =  69.84
RMS   =  27.87

Integ =   1548
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TPM2: Integrated cluster charge vs. drift distance

hClDedxOfY_TPM2
Nent = 23937  
Mean  =   71.3
RMS   =  28.02
Integ = 1.18e+04

TPM2, 191227 events, 658621 hits, 26334 tracks
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TPM2: Squared cluster width in pad direction vs. drift distance

hClXWidthSqOfY_TPM2

Nent = 23937  

Mean  =  74.08

RMS   =   28.8

Integ =  9.846
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TPM2: Squared cluster width in time direction vs. drift distance

hClYWidthSqOfY_TPM2

Nent = 23937  

Mean  =  75.56

RMS   =   28.6

Integ =  45.71

TPM2, 191227 events, 658621 hits, 26334 tracks
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hDevX_TPM2
Nent = 79002  
Mean  = -0.001834
RMS   = 0.1593
Integ = 5.647e+04

 26.74 ±Constant =  2068 
 0.0004834 ±Mean     = -0.001922 

 0.001155 ±Sigma    = 0.0969 

xδTPM2: 

hDevX_TPM2
Nent = 79002  
Mean  = -0.001834
RMS   = 0.1593
Integ = 5.647e+04

 26.74 ±Constant =  2068 
 0.0004834 ±Mean     = -0.001922 

 0.001155 ±Sigma    = 0.0969 
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hDevY_TPM2
Nent = 79002  
Mean  = 0.001848
RMS   = 0.1642
Integ = 6.104e+04

    19 ±Constant =  1773 
 0.0006052 ±Mean     = 0.005483 

 0.001257 ±Sigma    = 0.1297 

y�δTPM2: 

hDevY_TPM2
Nent = 79002  
Mean  = 0.001848
RMS   = 0.1642
Integ = 6.104e+04

    19 ±Constant =  1773 
 0.0006052 ±Mean     = 0.005483 

 0.001257 ±Sigma    = 0.1297 

TPM2, 191227 events, 658621 hits, 26334 tracks
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hdevRowx1_TPM2
Nent = 26334  
Mean  = -0.001194
RMS   = 0.3312
Integ = 2.073e+04

 16.78 ±Constant = 934.5 
 0.001025 ±Mean     = -0.01186 

 0.001958 ±Sigma    = 0.1232 



 for row 1xδ

hdevRowx1_TPM2
Nent = 26334  
Mean  = -0.001194
RMS   = 0.3312
Integ = 2.073e+04

 16.78 ±Constant = 934.5 
 0.001025 ±Mean     = -0.01186 

 0.001958 ±Sigma    = 0.1232 
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hdevRowx2_TPM2
Nent = 26334  
Mean  = 0.0103
RMS   = 0.3274
Integ = 1.989e+04

 21.76 ±Constant =  1252 
 0.0007254 ±Mean     = 0.00949 
 0.001225 ±Sigma    = 0.08188 




 for row 2xδ

hdevRowx2_TPM2
Nent = 26334  
Mean  = 0.0103
RMS   = 0.3274
Integ = 1.989e+04

 21.76 ±Constant =  1252 
 0.0007254 ±Mean     = 0.00949 
 0.001225 ±Sigma    = 0.08188 
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hdevRowx5_TPM2
Nent = 26334  
Mean  = 0.0008556
RMS   = 0.2483
Integ = 2.402e+04

 29.14 ±Constant = 690.3 
 0.001284 ±Mean     = -0.004547 

 0.005858 ±Sigma    = 0.1422 



 for row 5xδ

hdevRowx5_TPM2
Nent = 26334  
Mean  = 0.0008556
RMS   = 0.2483
Integ = 2.402e+04

 29.14 ±Constant = 690.3 
 0.001284 ±Mean     = -0.004547 

 0.005858 ±Sigma    = 0.1422 
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hdevRowy1_TPM2
Nent = 26334  
Mean  = 0.008177
RMS   = 0.3338
Integ = 2.228e+04

 14.71 ±Constant = 827.1 
 0.001244 ±Mean     = 0.05538 

 0.002504 ±Sigma    = 0.1569 



 for row 1yδ

hdevRowy1_TPM2
Nent = 26334  
Mean  = 0.008177
RMS   = 0.3338
Integ = 2.228e+04

 14.71 ±Constant = 827.1 
 0.001244 ±Mean     = 0.05538 

 0.002504 ±Sigma    = 0.1569 
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hdevRowy2_TPM2
Nent = 26334  
Mean  = 0.001917
RMS   = 0.3307
Integ = 2.211e+04

 28.31 ±Constant =  1271 
 0.0007595 ±Mean     = -0.04276 
 0.001717 ±Sigma    = 0.08371 




 for row 2yδ

hdevRowy2_TPM2
Nent = 26334  
Mean  = 0.001917
RMS   = 0.3307
Integ = 2.211e+04

 28.31 ±Constant =  1271 
 0.0007595 ±Mean     = -0.04276 
 0.001717 ±Sigma    = 0.08371 
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Nent = 26334  
Mean  = -0.006665
RMS   = 0.2193
Integ = 2.496e+04

 124.2 ±Constant =  3517 
 0.0002735 ±Mean     = 0.007876 

 0.001107 ±Sigma    = 0.03229 



 for row 5yδ

hdevRowy5_TPM2
Nent = 26334  
Mean  = -0.006665
RMS   = 0.2193
Integ = 2.496e+04

 124.2 ±Constant =  3517 
 0.0002735 ±Mean     = 0.007876 

 0.001107 ±Sigma    = 0.03229 
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